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ZLE(A/Q) 0.5 1.5 8.9 7.7
14/15.10(A) 383.06 314,77 50.29 55.76 15.3
| = 14/159(B) 382,12 314,62 49.79 53.86 14,8
13/14(C) 369.45 307.38 54.42 34.41 9.5
AMEZE SUEAB) 0.2 0.0 1.0 3.5
ZLE(A/Q) 3.7 2.4 7.6 62.0
14/15 10(A) 990,69 973.11 114,09 190.58 17.5
M| Al 14/15 9(B) 987.52 970.69 115.19 189.91 17.5
13/14(C) 988.57 953.23 129.03 173.00 16,0
2 5+ F SHUEAB) 0.3 0.2 -1.0 0.4
ZZ2+2(A/C) 0.2 2.1 -11.6 10.2
14/15.10(A) 367.68 302,40 44.45 52.85 15.2
o = 14/15 9(B) 365.66 301.13 44.45 50.84 147
13/14(C) 353.72 295,39 48.70 31.39 9.1
g F F SUSAB) 0.6 0.4 0.0 4,0
ZLEA0) 3.9 2.4 8.7 68,4
14/15.10(A) 721.12 714.11 156,02 192,59 22.1
Al A 14/15 9(B) 719.95 710.01 154,83 196.38 227
13/14(C) 715.13 704,52 166,18 185.58 213
2 ol Z2t2(A/B) 0.2 0.6 0.8 -1.9
SUEAC) 0.8 1.4 6.1 3.8
14/1510(A) 311.20 284.33 115.20 90.67 22,7
M A 14/15 9(B) 311.13 284,98 115.40 90.17 225
13/14(C) 285,01 270.87 113.39 66.49 17.3
CH = Z22(A/B) 0.0 02 02 0.6
ZLE(A/Q) 9.2 5.0 1.6 36.4
14/1510(A) 106.87 51.26 46.27 12,26 12,6
o = 14/15.9(B) 106.50 51.26 46,27 12,93 13.3
13/14(C) 91.39 49.85 44.82 2.50 2.6
CH = SUEAB) 0.3 0.0 0.0 5.2
SLEIQ) 16.9 2.8 3.2 390.4
14/15.10(A) 198,19 194,34 64.19 10.44 4,0
M A 14/15.9(B) 198,72 194,32 64.58 10.79 42
13/14(0) 188.15 184,96 59.90 10.15 4.1
oy = =t SZEAB) 0.3 0.0 0.6 32
ZLE(A/Q) 5.3 5.1 7.2 2.9
14/15.10(A) 38.13 27.40 10.89 0.27 0.7
oj = 14/15.9(B) 38.13 27.40 10.89 0.27 0.7
13/14(C) 37.08 26.94 10,43 0.27 0.7
o &= ut ZZ2(A/B) 0.0 0.0 0.0 0.0
SUSAC) 2.8 17 44 0.0
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7| ! 55,76 34.41 23,53 162,05 236.97
XY = 15.27% 9.27% 13.75%
EU AMl2=E sadE
(] @ k=
14/1510(A) 13/14(B) 12/13(C) AB AC
7| in 15.37 12,85 15.58 119.61 98.65
M o 163.74 158.43 145.89 103.35 112,24
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